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AMozapugmuyecKumu HepPaBEeHCTBAMM HA3bIBAOT
HepaBeHCTBa BMAA

log, f(x) > log, g(x)

a>0a+#1
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X
f(x)>0 loga; = log, x —log, vy
g(x)>0

logg f(x) >1loga g(x) & logg f(x) —logag(x) > 0=
f(x)
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log,t >0
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a>0aF1t=——
g(x)
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log,t >0,a>0a+1t=

a>1

]
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f(x)

t>l1le——> 1
g(x)

f(x) > g(x)

f(x)

0<a

g(x)

<1

1

1

O] 1

RY

f(x)

I<tledc—
g(x)

<1e{f(®) <g®)
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/Teopema. Ecm f(x) >0ug(x) >0, To: \
npu a > 1 norapudmmnyeckoe HepaBeHCTBO
log, f(x) >log, g(x) paBHOCUNBHO
HepaBEeHCTBY TOro e cmbicna: [ (x) > g(x);
npn 0 < a < 1 norapudmunyeckoe HeEPaBEHCTBO
log, f(x) >log, g(x) paBHOCUNBHO
HepaBEeHCTBY NPOTUBOMNO/IOXKHOIO CMbIC/A:

((X) < g(x). )

VIDEOUROK I %



IIIIIIIIIIII



PgwnTb HepaseHcTBa a) logz(2x — 4) > logs(14 — x);

6)logi(2x — 4) > log1(14 — x).
3 3

PeweHwue:
2x—4>0 x> 2
14 —x>0 oix <14
2x—4>14 —x x>6
| 3

2 6 14

[Tpumep:

OtBeT:a) x € (6;14); 6) x € (2;6).

2x—4>0
14 —x>0

- O

l 10ga (%) > log, g(x) }

= |

0<a<1 ’

{f&)>0 {fu)>o
gx)>0 gx) >0
f(x) > g(x) f(x) <gx)
x> 2
= ix < 14
2x—4< 14 —x x <6
2 6 14
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anMep [ 109 /() > 10909 J
l al>1 | ’l 0<Ia<1 ’

PgwmTb HepaseHcTBo logg (x% — 7x) > 1. (>0 f(r@>o

{g(x) >0 {g(x) >0
PeweHune: fx) > g f) <gx)
1 =logg8

logg(x? —7x) > 1 © logg(x? — 7x) > logg 8

{x2—7x>0@{x(x—7)>0 @{xe(—oo;O)U(7;+00)
x*=7x>8 " (42 —7x—8>0  lx € (—o0;—1) U (8;+0)

—1 0 7 8

OTBeT: x € (—0o0; —1) U (8; +0).
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I_I pl/l Mep l l0ge /() > 10929 }
l al>1 ’l 0<Ia<1 ’

PewuTb HepaseHcTBo logi (16 + 4x — x2) < —4. (F@ >0 £) >0
: |

PeweHue:

_ 1_ Nt
—4 = —4log% o= log% (2) = log% 16
log1(16 + 4x — x2) < —4 © log1(16 + 4x — x?) < log1 16

2 2 2
{16+4x—x2>0 x € (2—2V5;2 + 2V5)

> =
16 +4x —x“ > 16 x € [0; 4]
R I 00

2—2v5 0 4 24 2v5
OTseT: x € [0; 4].
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I_I pl/l Mep l l0ge /() > 10929 }
l al>1 ’l 0<Ia<1 ’

PewnTb HepaseHcTBo Ig x +1g(45 — x) < 2 +1g2. {50 >0 ) >0
{g(x) >0 {g(x) >0
PeweHue: f(x) > g(x) f(x) <g(x)

lgx +1g(45 — x) = lgx(45 — x) = 1g(45x — x?)
2+1g2=21g10+1g2 =1g10% +1g2 =1g100 +1g2 = 1g 200

lgx +1g(45—x) <2 +1g2 © Ig(45x — x?) <1g 200

{x>0 x>0
45 —x >0 (:){x<45
45x —x%2 <200 (x € (—;5) U (40; +0)

o NN
0 5 40 45

Otset:x € (0;5) U (40;45).
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[Tpumep:

P&WNTb HEPABEHCTBO logfx + 3log1x < —2.
2 2

PeweHune:
loglx=a=>log§x+310glx< —2oa’+3a<-2e-2<a<-1
2 2 2
—2<logix <-—-1

l log, f(x) > log, g(x) 1 ?

1
—2log1 - <logix < —1logi =

a>1 ' 0<a<1 22 2 22
- 1 1

-2 -1
" {f(x) =5 | £G) >0 log1 (E) <logix <logi <§)
gx)>0 {g(x) >0 2 2 2
Fe)=u(s Al s log1 4 < log1x < log1 2
' 2 2 2
4> x> 2

OTBeT: x € (2;4).
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1.
2.

3.

AnNnropunTtm pelueHun
rnorapnprMmmnyecKkux HepaBeHCTB:

YpaBHATb OCHOBaHUA norapudmos.

log, f(x) > log, g(x)

{f(x) >0 {f(x) ~n i

gx)>0 gx)>0
f(x) > gx) f(x) < g(x)

PeLlimnTb NONy4YeHHY0 CUCTEMY.
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